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//% .mod file DSGE con inflation GDP 

var pihat, xhat, rhat, epspi, epsx, epsr, ffrobs, inflgdpobs, xgapobs, 

pistar ; 

varexo ex, epi, er, estar, einflgdpobs; 

parameters  beta, lambda, gamma, tau, phipi, phix, phir, rhox, rhopi, 

rhor, rhopistar1; 

// initial values for the parameter vector 

// fixed parameters 

beta = .99;  

// Phillips curve  

lambda = .9; 

//structural model 

// IS curve 

gamma = 0; 

tau= .1; 

// TRule 

phipi = 1.75; 

phix = 0; 

phir = 0;  

//arshocks 

rhox = 0; 

rhopi = 0;  

rhor = .63; 

rhopistar1 = .995; 

model; 
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pihat = beta*pihat(1) +lambda*(xhat) + epspi; 

xhat = gamma*xhat(1)+(1-gamma)*xhat(-1)-tau*(rhat-pihat(+1))+epsx; 

rhat = (1-phir)*( phipi*(pihat-pistar) + phix*xhat )+phir*rhat(-1)+epsr; 

epsx=rhox*epsx(-1)+ex; 

epspi=rhopi*epspi(-1)+epi; 

epsr=rhor*epsr(-1)+er; 

pistar = rhopistar1*pistar(-1)+estar; 

// measurement equation 

inflgdpobs + einflgdpobs = pihat ; 

xgapobs = xhat; 

ffrobs = rhat ; 

end; 

steady(solve_algo=0); check; 

estimated_params; 

// Phillips 

lambda, .096, gamma_pdf, .1, .025; 

//IS 

gamma, .67, beta_pdf, .7, .15; 

tau, .12, gamma_pdf, .15, .05; 

// TRule 

phipi, 2.69, normal_pdf, 1.7, .3; 

phix, .62, gamma_pdf, .3, .2; 

phir, .21, beta_pdf, .5, .285; 

//ar1 roots 

rhox, .91, beta_pdf, .5, .285;  

rhopi, .91, beta_pdf, .5, .285;  

//rhor, .63, beta_pdf, .5, .285;  

//rhopistar1, beta_pdf, .5, .285;  

// shocks, stdevs 

stderr ex, .11, inv_gamma_pdf, .25, 2;  

stderr epi, .07, inv_gamma_pdf, .25, 2;  

stderr er, .12, inv_gamma_pdf, .25, 2; 

stderr estar, .29, inv_gamma_pdf, .25, 2; 

stderr einflgdpobs, .92, inv_gamma_pdf, .25, 2; 
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end; 

varobs inflgdpobs xgapobs ffrobs; 

//estimation(datafile=dati,prefilter=1,first_obs=12, 

mode_compute=4,mode_check, mh_replic=0); % ycbo seems to work better 

estimation(datafile=dati,prefilter=1,first_obs=12, 

mh_jscale=.45,mh_drop=.5,mode_compute=4,mh_nblocks=2,filtered_vars,bayes

ian_irf,conf_sig=0.90,mh_replic=500000); % ycbo seems to work better                                  

// Generate IRfunctions and Moments of the variables of interest 

stoch_simul pihat xhat rhat; 
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